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Solving Percent Problems — = Name
m{,. [Co

1. How do these differ? Discuss with your neighbor.
a. What is 8% of 3007

é - = %”( ’[E_) OA : KL Sf‘h ) of = "s t
:SDCJ OO o6 !Oc}
b. 8% of whatis 3007
e T 8x = 30(0e)d x= 7SO
> , = <
2. How do these differ? Discuss with your neighbor.
a. 18 is what percent of 30? #X S }\d('\:(ujb
kg_,,., - IS I8 = o (Ns)
30 oo | 30 Z;g;
? - — y S~ _)-‘ =]
b. What percent of 30 is 187 SOX 5 ( i )
lg %, 30 20
h-gg ~ (0O X = (0%
Translate the following to a percent equation or percent proportion. Then solve.
bs
3. What is 32% of 51.2? #2  ShovYall
X _ _ 32 oox, = "gl(gl.‘%> .’67..(3‘].25 =
sl.2 =Te) o T oo 1284
4. 9is 40% of what number? X = ggﬂi ~ 1,33
1. 4
)« OO L‘}”Q‘I{. CI( Im> X = Lzlbﬁ
l—f-o Lf(_)
5. 50 is what percent of 907
05 o K Tox =Sd(1e D> x & §S.SS
9o oo 90 9o ‘

6. The PCC Foundation has raised $225,000 for scholarships, with a goal of raising $500,000. What percent of

the goal has been raised?
225,000 = —= 500,000x = 225,000 ( (06)
STO,000 160 “S00,000 ~— <0, 000

have vased USh ot fledr goull. X =4S %

7. The enlaége feature on a copier is set at 150%, and a 2.5-inch side picture is to be copied. What width will

the width of the enlarged picture be? 5 Q:B
< _ - Iso % =

= lod Joo

2.5 100 Oﬂa‘“’Q X = 318 inche
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Percent Problem Puzzles Name

Here is (the start of) a student’s answer. What was the question?
Example: x =0.40-5 What is 40% of 57
1. d=0.13:x
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5 120-0.02=x

= F-—-—-—-x ::ﬂ l‘./‘\) IlNJ\.' \'i - k E) LT -‘i': (7‘\ c/x i (') i
(4. 13.5 100

B 4S 18 eode o whek 7
(5 ) X 100

L = - 7

~ z == 3 > oY o "« /’
{ 6. ) 7 100
Vsl

7. 0.04-50=x

8. x=12-0.2
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